Agronic 4500

AgroBee-L 1/2 installation

in box format

SUPPLIED MATERIAL

) Material
: Screw AaraEa
B groBee-
— M2x6mm coordinator plate
Coordinating Antenna cable
plate
Antenna
M2x6 Nylon screws
Antenna cable 10 meters + antenna
=—=FK —

BOX FORMAT ASSEMBLY

1 Disconnect power from the 2 Remove the four screws.

Agronic 4500. N

Material supplied in:
1 Coordinator 2 coordinators

1

1
1

2

3 Liftthe keyboard.

: P
4 Remove the four screws from » Lo EEC S
the aluminum cover that protects X
the micro plate as shown in the ‘ ‘
following image.

Fastening screws 5 Place the AgroBee-L coordinator plate or plates and secure them with the

screws and washers supplied as indicated in the following image.

AgroBee-L 2 AgroBee-L 1

Position the cable or cables
above the spacer

Assembly sequence
M2x6 screw

Coordinator
AgroBee-L

Micro plate

Manual - Agrénic 4500 - -l



6 Replace the aluminum

protective cover.

8 Place the coordinator

connector into the box.

1

7 Ifthe box is die cut, break out the holes using a hammer and punch or
similar. If it is not die cut, make a 6.5 mm hole according to the dimensions

indicated below.

Top view

89 mm

65 mm

[wapenvar | (R 1] [szmomee 3]

Keyboard

9 Screw in the antenna cable and power up the unit to check that the

installed plates are read correctly. To verify this, go to:

Consult - 16. Agrénic

Consult - 15. Modules - ‘F1’

CONSULTA AGRONIC 4500

" Numero de serie: 12241 V:1.18
Vec:123V V.Sal:no
Dispo

Opcione:

Nube+PC Plu © Pivots Solar Clima Monocable
Radio

2 - Manual - Agrénic 4500

CONSULTAMODULOS 1 -AgroBeed. 12:04:02

20 1AR433 MExpan TODO



Agronic 4500

AgroBee-L 1/2 installation
in built-in format

SUPPLIED MATERIAL

) . Material supplied in:

Screw Material 1 Coordinator 2 coordinators
M2x6 AgroBee-L
- —l coordinator plate 1 2
Coordinating Antenna cable 1 2
plate

Antenna 1 2

M6 and M8 M2x6 Nylon screws 2 4

insulator Insulator M6 1 2

Antenna cable 10 meters + antenna M8 insulating L 5

— washer
BUILT-IN FORMAT ASSEMBLY

1 Disconnect power from the 2 Remove the six side screws. 3 Separate the keyboard from

4 Remove the four screws from

Agroénic 4500. the box. B
-1 & .— |

the aluminum cover that protects A |

{7

the micro plate as shown in the

following image.

Fastening screws

5 Place the AgroBee-L coordinator plate or plates and secure them with the

screws and washers supplied as indicated in the following image.

AgroBee-L 2 AgroBee-L 1 Position the cable or cables
above the spacer

Assembly sequence
M2x6 screw

Coordinator
AgroBee-L

Micro plate

Manual - Agrénic 4500 - 3



6 Replace the aluminum

protective cover.

‘e .
a

8 Place the coordinator
connector into the drawer as
shown below.

Connector + M8 + drawer + M6 + nut

7 Ifthe drawer is die cut, break out the holes using a hammer and punch
or similar. If it is not die cut, make an 8 mm hole according to the dimensions

indicated below.

Rear view

SALIDAS | OUTPUTS

73 5\ 76/77|78(79 318233353637$98CHA

MODEM/WIF ?

| | ¢ ©O
) E
© N

\; [ AGROBEE-L2Z
AGRONIC4500 30 mm

3 hilos 3 hilos

9 Screw in the antenna cable and power up the unit to check that the

installed plates are read correctly. To verify this, go to:

Consult - 16. Agrénic

Consult - 15. Modules - ‘F1°

CONSULTA AGRONIC 4500 12:04.32

Opcione:

Nube+P! Solar Clima Monocable
Radio

CONSULTAMODULOS 1-AgroBeed.

1ABee 1AM120 1AR433 MExpan TODO

Sistemes Electronics Progrés, S.A.

Poligon Industrial, C/ de la Coma, 2 | 25243 El Palau d’Anglesola | Lleida | Spain
Tel. 9733204 29 | info@progres.es | www.progres.es

R-2550



